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1. (A) ECG means electrocardiography
Which is used to measure Heart's activity.
EEG means clectroencephalogram
Which is used to measure electrical activity of

the brain.
2.(A) N KH :ROL::I|)FP : 1;1 T
S - | & ]
+4 +4
+4 +4
396 : 132 :: 936 : 312
3. (D) A
=3 =3
4. (D)
WMDE G J K ®L N Q R
N AN
e fdd e S |
oOsS U XY oM O P Q
NA A N N N N4
+2 43 +1 +2  +1  +1
5.(D) (16 = 4096  (14)° = 2744
(13 = 2197  (17) = 4913
(13)
6. (C) Gather, accumulat and enchance all are

synonms only alleviate's
morning is different.

SOLUTION

8. (B) C is in the North-East direction of D.

B A
C
D
9. (B
B) 2km
A2km | 5km

< o Start point
8km

Sagar is in south-west from the starting point.
10. (B) CURTAIN cannot be formed from the

UNIVERSALISATION as 'C' is not in the word.
11. (A)5+3x8+12-4=3,

=54+ —_4=3
=3 12

=7-4=3
=3=3
122.(C) D R O P
66, 21, 55, 99
The first digit is representing the columan where
as second digit is repreenting the row.
13. (C) Ostrich and Moroccan both are birds but t\are

7. (D) :
S HE E E T different from each other.
l+3 l+3 l+3 l+3 l+3 l+3 14. (B)
VKH HHW /\
Similarly { \D
I
Cr T\/ﬁ
l l l+3 +3 |43 F
L O H There are 10 triangles in the diagram
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15.(C) 6+3=9 23. (B) 8 * 7 +42
I+4=13 —@-1)x(T-1)=42
13+5=18

. . . 7x6=42

16. (A) 5. Cinderellea, 1. Circle, 3. Circumference
2. Circumlocution, 4. Cistern 42=42

17.(C) 3x4=12-4>38 9%7 + 48
§x4=32_4 28 9—1)(7-1)=48
28 x4=112-4 —> 108 8§ x 6 =48
108 x 4 =432 -4 —> 428

5 ® 48 = 48

. 1 214
38 8623/70 Similarly
oy gy g1 sk39

19.(8) L. PR B
pq—)rS—>VW—>bC (S—I)X(3—1):?
Lt Lt Lt Lt
+1 +1 +1 +1 +1 4 % 2 — ?

< ?7=8

20 @ | @B

<
24, (C) @:

21. (D) | COEPCI

X

Neither conclusion I nor II follows.

25. (D)

22. (A)
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1. B) (87 =64 (8) =512+1 =513

(12)* = 144 — (12)* = 1728+1 = 1729
2. (B) Reverse letters are written of the former.

: WXYZ 21 JKL : [RQPQ
iy ' i

3. (C) Safe and secure both are synonms.

DT??

So, careful and wary are also the synonms.

4. D)PMT OO0OS NOQR MSQ |[LVP
Y Y S T I I N T
LT+ Tr0M+2 T+ J1 1+
-1 -1 -1 -1

5.(C) 206, 309, 412, *m 618, 721
L A A

+103

+103  +103  +103  +103

6. (D) Typhoid, colera and jaundice are incommunicable
disscases where as HIV-AIDs is communicable

disease.
7. (D)
C B E D J J L K
(A) N/ B) /N
-1 +3 -1 -1 +3 -1
T S VvV U vV Z X Y
(C) e/ / (D) N/

-1 +3 -1 +4 -2 +1
(A)4x2x7x6=336+3—>112

B)8x1x9x9=648+3 > 216

(C)9x3x9x7=1701+3 = 567
D) 5x2x8x4=320+3 = 106.67
9.D)48+8x6+2—-4

8. (D)

18+8x 24
= X —
2

48+ 244
=72-4
=68

SOLUTION

10. (C) In figure -1
20-9—> (11! > 121
In figure -I1
24 - 11 = (13)* > 169
In figure -111
32 - 17 = (15)* > 225
1. N I E C E
12, 65, 76, 57, 20
The first digit represent the position of letter in
column and the second digit represents the po-
sition of letter in row.

) |AAAA

vVYyYY

HSIULTF
Similarly

KJ S OIP

PI1H S7J
14. (B) North west

4km
3km
150 (D*+QP+G)P—>1+4+9—> 14
2X+G)P+@d)P—>4+9+16 > 29
Gl + @42+ (5= 9+ 16 +25 = 50
@+ B)P+0)2—>16+25+36 > 77
16. (D) If 3% day of a month is Friday.
Then, 23* day of the same month will be Thursday.
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17. (D) Let the present age of daughter be x years.

Mother's present age = 5x years 20. (©)

After 5 years,

Daughters age=x+5

Mother's age = 5x + 5 21. (A)
5x+5=3(x+5)
5x+5=3x+5

22. (D) 4. Objection 3. Objective

2x=10 2. Obligation 1. Obscure

X = 5 years. 4,3,2.1

23. (D) Fall cannot be formed from the word as 'A’
is not there in the word FOLLOWING,

24. (D) Sujata is wearning gold ornaments but don't

Present age of mother = (5 x 5) years.
= 25 years.

18. (B) There are 16 circles in the figure. know whether gold ornaments shine or not.

Centuries
o2 N 20 (0 Jd)

1=

Only conclusion II follows.
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1. B) 121 : 605 :: 144 : 720

121 x 5 — 705
144 x5 - 720
2. (C) The reverse alphabete are given former in the
later.
R PN MKI :: YWU FDB

=11 [ =T
3. (D) Bangladesh : Dhaka :: Jordan : Aqaba
Dhaka is capital of Bangladesh similarly agaba

is capital of Jordan.

4. (D) 375+ 1 —> 576 —> (24)*
899 + 1 — 900 — (30)*
2024 + 1 — 2025 — (45)*
1330 + 1 — 1331 — (11)°

5. (D) A\jZ héjN = Both are pairs of reverse
in aphabetical order.

R\/I SUH= Both are pairs of reverse
in aphabetical order.

J\/Q )E}C= Both are pairs of reverse
in aphabetical order.

L\9 (/]‘3 = Both are pairs of reverse

in aphabetical order.

6. (D) Mindful, Intelligent and Brilliant all are
synonms and are used for telling about as per-
son qualities where as experienced means all
those experience gained from years.

7.(0)

16, 21, 31, 46, 66, ’91
N AN AN AN i

+5 410 +15 420 +25
8. (C)aabccaabccaabcc

abacac

SOLUTION

WONDER
9. (D)
N O WRED
Similarly
NNTION
TANNO I
10. (A) He reaches to his initial position.
S5km
10k
10km m
S5km
11. (B) Father'
Son* Sister”
Son”

The woman is mother of the man
12.(C) 12-6+16+4x8
=12-6+4x8
=12-6+32
=44 -6=736
=36 =36
13. (D)
1. Anuj is shorter than Virat but taller than Aman.
Virat > Anuj > Aman.
2. Sagar is shorter than Anuj but taller than aman.
Virat > Anuj > Sagar > Aman.
3. Dev is shorter than Virat but taller than Anuj.

Virat > Dev > Anuj > Sagar > Aman
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14. (D) 72 + (26 — 24)

=72+ 2=736. OU 0
108 + (58 — 55) = 108 + 3 = 36 20. () u C
189 + (64 — 57) = 189 + 7 =27 OELO
15. (D) 5. Afform 3. Effect
1. Effect 2. Funding 2L F 1T LM
4. Inform 24, 12,78, 59
5.3.1,2, 4 The first digit represents the column and
16. (C) 14 second digit represents the row.
22.(C) 5x6=30+30— 10
, §x9=72+3>24
u—, L2 Tx9=63+3->21
3 23. (B) YARD cannot be formed from the word as 'R’
2 517 [ 10] do not comes in the word WEDNESDAY.
gfo] [u 24. (B)
13 12

Potatoes ’ Mangoes

Only conclusion II follow.
17. (C) 25. (B) 10 years ago,

Sudhir's age  4x

Sunita's age T x

r'(\-l After 5 years.
18. (D) .\ ) Sudhir's age _4x+10+5 7
Sunita's age 3x+10+5 ©

24x + 90 = 21x + 105
3x=15

' x=5
19. (D) ﬁ There present ages

=[4 x5)+10], [(3 x5) + 10]
= 30, 25 years
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I —
L. (A) Mirth, Pleasure, Glee are synonyms of each [ g (C)
. . . North
while Dismal is antonyms.
2.(0) 2k
R Q 1 J L H O S Hm
(A) N B) ~— ~—
1 1 4 4 |
West East
D G X V T G G T
(C) ’ (D)~ N
3 2 13 13
) ) South
3. (B) 2025 = (45)* = 45 is the perfect integer
4048 = (63.62)* not a perfect integer Final point is north-east direction.
1718 = (41.44)* not a perfect ineger A" -
= 2 i
2734 = (52.28)* not a perfect integer 9. (A)
E" D
4'(C)RIK%ZME?%”DOYT:YK\’% B is the mother of D.
} ) ‘ ‘ ) 10. (C) Given conditions,
= ' = + o+ = -
- - 6+3+1=6x1-3
5. (B) 7528 : 6417 :: 3961 : 2 3=3
Hence, option (C) is the correct.
7528 : 6417 o 3961 : |2850 11.(C) The least possible venn diagram,
| 28-17=11 | 11 ” I 11
75-64=11 11 11
6. (D) Television invented by John Logie baird.
Talephone invented by Graham bell.
7© INS ERT
Neither conclusion I nor conclusion IT follows.
T VHMR R,y
Similarly a L E |y Y 7
I 1 X
GR O UND I w
Y \
MFLIT N P Q R S T
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13. (D) In the given word from left to write starting
from D to first E there is no gap and in alpha-
betical series also E comes just after D.
Second pair is between Q and T. There are two
letters in between the given word that are U and
A. And in alphabetical sries also the total num-
ber of letters between Q and T are R and S.
Third pair is in between L and Q. If we check in
backward direction from L to Q in given word
the total number of letters are four that are
E,T,A,U and then Q is written and in alphabetical
series also the total number of letters are four
that are M,N,O,P and then Q comes.

14.©O | g

172.8) S O U R
86 43 59 44

18. (B) Figure-I Figure-II
1I8x12-11x16 18 x21-16 x 18
216 — 176 = 40 378 — 288 = 90

19. (A)

= ‘;Ph" vk

' Dancer
T

'¢' is that part represent which is achor & condian.
But not Dancer.
20. (C) Let take Rudra's Age = x
Vani's age = 4x
Now Rudra's age is 9 year.
Itmeans x=9
Vani's today age =4 x 9 =36
5 year before
36 — 5 =31 years
21.(C) 16 x05=8+9=17
17x1=17+11=28
28 x 1.5=42+13 =55
55 x2=110+15=125
125 x2.5=3125+ 17 = 329.5
2.®) ¢prg,

FLX
Smmml |

6x2=12

N, LX VB,

XVRD
A

12x2=24 |
24x2=48

12x2=24 22x2=44

Tx2=14 2x2=4

23. (D) France, Reaction, Vocate is used to made
word "VERIFICATION'.
But voted word cannot be made.
24. (B) In the arranging dictionary order,
Against < Another < Anxious

< Approval < Apriate

X

25. (D) |
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1. (C) Ahmeddabad is famous for cotton. 256x4 = 1024
1024 x4 = 4096 # 4098

4096 x 4 = 16384

Hooghly is famous for Jute.
2.B)3:27::7:7?

3 is related to 27 that way 3 x 9 =21 10. (D)
. (AHTI J B)M N O
similar way, 89 10 13 14 15
7 is ralated to 63 that way 7 x 9 = 63
3 A INR .. SOX . 9 ©V WX D)K M N
A ’ - o 22 23 24 1113 14

KMP : JNR :2:SOX : |[RPZ 11. (O

| _A I A 3, 8, 28, 108,
-1 T -1 N NN NS
. . R
+2 +2 x4 x4 x4
4. (B) 'REST', 'NOTA', ' MASTER' word is in main | 12. (B) Q _17 S 19 _23 Y _25

U_ 21 W _ 23 Y _ 25
o

word 'SPHY GMOMANOMETER'. X 24U 21" R 18

5. (C) In the dictionary order, B is the correct answer.

Cinderella < Circle < Circumference 13.(A)qqrppqqqrpp g qqr

< Circumlocution < Cistern rqqq
5132 4 14 D)15*15*5*2*3 %44

6. (C) The least possible venn diagram as follow. 15x15=5+2-3=4
44 = 44 Using BODMAS

@.@w 15. (C) We check options one by one.

Both conclusion I and II follow. 32 11 89 22

7. (D) In the following given operations are as fol- C A KE
low. 5x 6x7
7x2=41 9% 9 =8l 16. D) -~ =4 Y
7Tx2=14 9 x9=281 42 =16 62= 36
Simiarly Similarly
TxT=? 1x8
T x7=49 121 o
Reverse = ? =94 112 = 121

8. (A) Cobbler, Tailor, corpenter are profession but

) i ) i 17.D)9I*x2-2=16
droper is not profession, so, option A is odd.

9. (B) 4. 169, 64, 256, 1024, 4098, 16384 16>2-2=30
= 16 30 x2-2=58
16x4 = 64 58x2-2=114
64x4 = 256 114 x 2 -2 =226
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22. (B)
18. (A) % ECBAD
. B is sitting in the middle of the row.
S R==U"
19. (C) 24. (B) According to anupom, his father's birthday
. 24 July, 25 July
According to anupam sister, her father's birthday
25 July, 26 July or 27 July.
20. (D) D%q Common Date is 25 July. So, their
Father's birthday is 25 July.
21. (B) North 25.(O Cir%:\le
(N-W According to S) I
( M

South

East

N
Triangle
Rectangl G
ectangle < L>§ZB 0

Square
Hence, G is the common part of the all letter in
various figure.
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